2AH: EX
Y EX AR SEHZELXAML/XNAUTAI)
Sel: DAWS A9 EXI‘S"ZE*, 2

- Ollarey

=1

EX 3,516,520 3,799,008 A282,488

2 2,820,391
= 696, 129
EXele E8SHEEUXNANL/NALTAI) 3,474,128 3,757,213 283,085
2 2,820,391
= 653,737
DASHY EXHE Y 917,020 11,000 906,020
2 890,020
= 27,000
EXzel ¥ NNAA e 12,000 11,000 1,000
201 erE | 6,000 5,000 1,000
01 AL 2 2IHI 6,000 5,000 1,000
OSXAFR LHEIIAK HF SRS 6,000
202 01| 6,000 6.000 0
01 2LHOIHI 6,000 6,000 0
OEX B2l L HUBA = 6,000
HEBAXOL g2ET(2D) 905,020 0 905,020
= 890,020
= 15,000
R 22,000 0 22,000
2 11,000
= 11,000
04 JI2AH2ESES 22,000 0 22,000
ONEBAIXIDL ZA &2 22,000
2 11,000
= 11,000
201 ere | 4,000 0 4,000
2 2,000
= 2,000
01 ALR B2l 4,000 0 4,000
ONEBAIXII Z2EW 4,000
2 2,000
= 2,000
202 01 | 4,000 0 4,000
2 2,000
= 2,000
01 2LH0i bl 4,000 0 4,000
ONLBAIXII RET 4,000
2 2,000
= 2,000
308 XX/ XIS 01 & 875,020 0 875,020
2 875,020
01 RXSHZAEES 875,020 0 875,020
ONEBAIKIIF A & &HF 875,020
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FA:

EX

Fu: X122 FEH(EUXNANL/NSUTAI)

S5 DAY EXEY 29 (B9 ®R)
il L inleiNy e e e 1| Al OH ot e H2=2
Tzd - B a‘a(ml) - MISAY - BES ooty Gl &ron Hns2
- . e . e . . 1

EXNE =24 134,371 194,000 259,629
= 52,371
=SS 82,000

ANE=sg dozel 82,000 194,000 112,000

201 Y2 | 64,000 56,000 8,000

01 At22t2il 62,000 55,000 7,000
o=2Yx AN Lxist 30,000
OHIAZXIA D1 NHSBIFEY & 27,000
oXHsEs 29 5,000

03 8 A2 | 2,000 1,000 1,000
OXIEAOIL X A&l Wz 2,000

202 OiH| 8,000 8,000 0

01 SLHOIH 8,000 8,000 0
oOXE=smHL 8,000

401 Al HIZ R THHI 10,000 0 10,000

01 Al H] 10,000 0 10,000
oudId EE2L 10,000

X=gel(21) 52,371 0 52,371
= 52,371

101 o124t 16,110 0 16,110
=2 16,110

04 JI2tHZEXNSEES 16,110 0 16,110
OJIEH 2l ¥ NEHH S N2 16,110
= 16, 110

308 XHXIEHHI SOI& 3,261 0 36,261
=2 3,261

01 X SHBALEES 36,261 0 36,261
OGPS AAIZEA L AMI|H S 22 36,261
=2 36,261

TAHES - YN ES A 963,000 1,043,000 80,000
2 600,000
& 363,000

TALHEANY FA L YA 2H 363,000 323,000 40,000

201 22| 155,000 145,000 10,000

01 Al 2218 8,000 8,000 0
OISR +2 ¥ Xg44= 8,000

02 BB2YH| 147,000 137,000 10,000
OXHF A SN2+ 86,000
OZNBAHEESALH SALH 61,000

202 04l 8,000 8,000 0
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2A: EXD
HM: EX 22O Egé}( ELXSIHL/RNALZA)

B2l SAELE - YX2A A (e

2 - B aﬂ(imn) HI”A}Q By= | oee | QRS | H@SZ

01 =3UObI . 8,000 8,000 0
O3Z2UFE F& & dXEH 8,000

207 A 155,000 0 155,000

02 AN 155,000 0 155,000
OEE SFIE A JAZE NEHA 25 155,000

405 THatE = 45,000 170,000 £125,000

01 THatL 2 S HSH 45,000 170,000 A125,000
OEE HFIE Al AMNZE NEWA 75 45,000

C2I|E XStAIEE dats(=1) 600,000 720,000 £120,000
= 600,000

403 Tt XISHH SKH=0l& 600,000 720,000 £120,000
= 600,000

01 XS A2 600,000 720,000 A120,000

OF=2J|8 XstAEE Muts 357% - S8

2y 600,000
= 600,000

C2EFA - RSN 22 170,737 185,213 L 14,476

EREFA ALY FH 137,000 153,000 £A16,000

201 &Bt2H| 27,000 24,000 3,000

01 At 22| 27,000 24,000 3,000
oz2EFA - XGRAASE 29 2,000
OUXE RS &Y BY 5,000
ORS4& HXNHLHE & VKBRS EE 20,000

202 o4 8,000 8,000 0

01 FU A 8,000 8,000 0
O=ZFF4L A FS4 B0 A A 8,000

301 get2as 2,000 6,000 24,000

09 AL HI 2 &S 2,000 6,000 24,000
OZEFA NEHZ 29 2,000

403 Tt XIHHSAH=01H 100,000 100,000 0

01 XS A2EX 100,000 100,000 0
O2EFA AUHANELEE &€X & KB 100,000

CREFAIET SAES MY (ZIHEFIH) 20,319 19,241 1,078

403 TtXISHREX20IH 20,319 19,241 1,078

02 BI2SHUS A=A A AL 20,319 19,241 1,078
OEZHF:A JI2: RIES AIY 20,319

CR2EFA - 2SS H(IHEEXR) 13,418 12,972 446

403 AXISHSA=0lH 13,418 12,972 446

02 SIIZSHUHEN2EAE AL 13,418 12,972 446
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2 EX
A EXN2LIS SSHEELXANM
oo SRYFA - BSA HL

oy

~ 13,478
e ET 1,289,000 2,304,000 A1,085,000
2 1,278,000
= 11,000
RETHEMAY 27 (21) 1,278,000 2,313,000 A1,035,000
2 1,278,000
308 XX SHHSO0I® 1,278,000 2,313,000 A1,035,000
2 1,278,000
B L ERCEE 1,278,000 2,313,000 ~1,035,000
OXI =T EA AL 1,278,000
= 1,278,000
TR TE AL AL 11,000 11,000 0
201 Bt | 5,000 5,000 0
01 AL E 2l 5,000 5,000 0
OXNEMEMRE =g 5,000
202 01t 6,000 6,000 0
01 = Lot 6,000 6,000 0
ONETUEAAL =& 6,000
sE 22 (EXD)(IE/IIE) 42,392 41,795 597
Jl= 2| 42,392 41,795 597
2A2g Jl=ZY| 42,392 41,795 597
201 ErS Y| 27,302 26,195 1,197
01 AFRZ2lHI 27,392 26,195 1,197
SH2Y ASR 27,392
202 01 H| 11,400 11,400 0
NENTT 11,400 11,400 0
oRNSY =0 11,400
203 @ RE= Y| 3,600 4,200 2600
EY T S 3,600 4,200 600
©202! 015t 300, 0008+ 122 3,600
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